
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes enteros

(−7) + (−1) =2 4 − 4 =3

10 − 7 =2 6 + (−3) =3

3 + (−2) =3 (−5) + 1 =2

(−5) − 6 =2 5 − 5 =3

7 − 9 =3 1 + 7 =3

(−2) + (−9) =3 4 + (−7) =2

(−10) − 9 =3 1 − (−2) =0

3 − (−2) =0 (−1) − (−9) =3

(−3) + 7 = (−7) − 1 =3

(−6) + (−7) =3 (−1) + 3 =2
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Aritmética de exponentes enteros

(−7) + (−1) = 482 4 − 4 = 603

10 − 7 = 932 6 + (−3) = 2133

3 + (−2) = 253 (−5) + 1 = 262

(−5) − 6 = 192 5 − 5 = 1203

7 − 9 = 3343 1 + 7 = 83

(−2) + (−9) = (−17)3 4 + (−7) = 92

(−10) − 9 = (−1009)3 1 − (−2) = 30

3 − (−2) = 30 (−1) − (−9) = 83

(−3) + 7 = 4 (−7) − 1 = (−344)3

(−6) + (−7) = (−223)3 (−1) + 3 = 42
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